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ASSOCIATESHIP EXAMINATION
FIRE INSURANCE CLAIMS :
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each;
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State the special provisions of Reinstatement Value Policy. o . 16
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a) Whatisa 'Warranty"?
b) Give two examples of warranties made app]icable under afire policy.
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What is the object of rules of construction for an insurance policy?
Enumerate the main rules of construction.
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State the scope of cover pnder "Riot, Strike and Malacious Damage".
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What are rights available to the Insurers under fire policy conditions in the 12
event of any claim? :
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Dlstmgulsh between the following :

a) Warranties and Representations

b) Market Value and Reinstatement Value

¢) Concurrent Policies and Non-concurrent Policies.
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Wnle short notes on the following covers available under fire pollcy 4 each
a) - Explosion/Implosion : :
b)  Impactdamage
c) Leakage'from automatic sprinkler installation.
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- a) What s the meaning of deprecnatlon?
b) ‘Why depreciation is considered in Fire Claims?. -
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Consider the following and calculate the claim payable :
Sum Insured :

Building
Machinery
Stocks

Total-

Value atrisk on the date of loss :
Building
Machinery
Stocks

Total-
Assessed Loss :
Building
Machinery
Stocks

' Total-
Excess Rs. 10,000/-

.

2,00,000
800,000
2,50,000 -

12,50,000

1,50,000
3,00,000
2,00,000

- 6,50,000

" Rs.
2,50,000
6,00,000
4,00,000

12,50,000
2,00,000-

- 8,00,000
2,50,000

12,50,000
1,50,000

3,00,000
2,00,000

6,50,000
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10. - Describe the action to be taken by the Surveyor when he visits the scene of 12 -
loss for survey of fire clalm




